LT4—X& =7 (A-BERI)

AO%Z HDCP 0~18.4
20224 10A4H
JIEA K4 OUT IN 18H HD NET
1+BG VENNNE S ) 34 35 69 6 63
2 AeAt BpR 41 40 81 17 64
3 A NI 37 40 77 13 64
4 Il Rk 42 37 79 13 66
5 IR SER 43 42 85 18 67
6 A 3T 41 41 82 14 68
7 LA ] — 42 38 80 11 69
8 AR 5 — 45 41 86 17 69
9 EREREPS 42 45 87 18 69
10 ILHR FRRE 37 44 81 12 69
11 BEE HE 49 39 88 18 70
12 KA 1EH 47 42 89 18 71
13 A P 39 45 84 13 71
14 KIALR B 45 38 83 11 72
15 AV NI 553 45 40 85 13 72
16 HA 58 45 41 86 14 72
17 MU FhE 42 40 82 10 72
18 HAR BiG 39 39 78 6 72
19 K —= 48 43 91 18. 4 72.6
20 Il ok 47 42 89 16 73
21 H & 47 44 91 18 73
22 SV TN 44 44 88 15 73
23 i R 46 45 91 17.2 73.8
24 Eil =% 43 44 87 13 74
25 i ST 48 44 92 17 75
26 & B 53 40 93 17 76
27 BN B 45 47 92 16 76
28 fifg |t 46 43 89 12 77
29 A BHEA 45 47 92 14 78
30 R 47 44 91 12 79
31 wEI — 45 45 90 11 79
32 ARH et 45 47 92 13 79
33 BB 50 50 100 18 82
34 Wl E2 48 58 106 18 88

#HDCP

15
11



LT4—X& =7 (A-BERI)

BO%Z HDCP 18~40
20224 10A4H
JIEA K4 OUT IN 18H HD NET
1 JIAE FEfkE 48 48 96 36 60
2 g H A 47 41 88 27 61
3 O B2 48 47 95 32 63
4 (EFNRES'S 49 45 94 28 66
5 FLl 32 54 49 103 35 68
6 H ko 47 42 89 21 68
7 HT Ak 47 46 93 25 68
8 AT B 50 50 100 31 69
9 il AB 46 48 94 25 69
10 A% Fnfk 57 49 106 36 70
11 HH FET 53 48 101 31 70
12 =¥ E2AY 45 46 91 20 71
13 b EE 46 46 92 20 72
14 KK = 50 50 100 28 72
15 FEA == =Rf 45 48 93 21 72
16 HE 1R 46 49 95 21 74
17 g Wb+ 50 59 109 35 74
18 Ay — =% 55 56 111 36 75
19 KL Gl 52 49 101 24 77
20 HRE PR 49 49 98 21 77
21 Yk 5K 51 46 97 19 78
22 FIE #(E 47 52 99 21 78
23 ¥y = 55 54 109 28 81
24 s Rl 53 57 110 28 82
25 il AT 63 63 126 33 93

#HHDCP
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28



